Here is a list of slightly tougher problems that can be used for additional review study for the MATH 150 Exam 1.  These are guaranteed NOT to appear on the Exam.  The point of the problems being: not to preview the exam; but to review the material that you have hopefully mastered, and to hone your problem solving skills.  If you want a list of simpler problems, then do the even numbered problems in the book.
Find the domain and range for:
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, find functions f and g (different from h) such that [image: image16.png]h=fog



.
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, find a function f such that [image: image18.png]
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Solve the following inequalities:
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Simplify the following expressions:
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Find and simplify
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, for each of the following:
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Find and simplify 
[image: image46.wmf]x

y

x

f

y

f

-

-

)

(

)

(

for each of the following
[image: image47.png]




[image: image48.png]f(z)= VAT ¥5





[image: image49.png]Fz) =27




A rectangle has base b, and height h.  If the area of the rectangle is 50 square meters, express the perimeter of the rectangle as a function of h.
A rectangular pasture has base b and height h, and the bottom side of the pasture is bounded by a river. If the other 3 sides of the pasture are bounded by 220 feet of fencing, express the area of the rectangle as a function of h.
A rectangle with base x and height y is inscribed in a circle of radius 5 inches. Express the area of the rectangle as a function of  y. 
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A rectangle has its base on the x-axis and its top two vertices on the graph of y = 9-x^2. If the top right vertex has coordinates (x,y).  Express the area of the rectangle as a function of x. 
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A right triangle has vertices at the origin and at the points (x,0) and (0,y)(with x and y positive). If the hypotenuse of the triangle passes through the point (3,5), express the area of the triangle as a function of x. 
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An athletic field has the shape of a rectangular region with semicircular regions at each end. (See the diagram below.) 
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If the perimeter of the field is 400 meters, express the area of the field as a function of the radius r of the semicircles. 
A rectangular page in a book has margins of 1.5 inch at the top and the bottom and 1 inch on the right and the left. If the printed material on the page is a rectangle with base x and height y, and its area is 50 square inches, express the area of the page as a function of x. 
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A rectangular box has a square base and a volume of 80 cubic inches. If the side of the base has length [image: image55.png]


and the height of the box is h, express the surface area of the box as a function of h. 

A rectangular box has a square base and a volume of 60 cubic inches. If the side of the base has length x and the height of the box is h, and the material for the top and bottom costs 10 cents per square inch and the material for the other four sides costs 8 cents per square inch, express the cost of the box as a function of x.. 

A right circular cylinder with height h and base radius r has a volume of [image: image56.png]R0



cubic inches. Express the total surface area of the cylinder as a function of r. (Recall that the area of the side of the cylinder is given by [image: image57.png]


.) 

A ladder reaches over a fence 6 feet high to a wall 4 feet behind the fence. Express the length of the ladder as a function of the distance x from the base of the ladder to the fence. 
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A hiker in the desert is 4 miles from a straight road, and he wants to walk to a town 10 miles down the road from the point on the road closest to him. (See the diagram below.) 
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If he can walk 5 mph along the road and 3 mph off the road, express the time it will take him to the town as a function of x..
Find the function whose graph is obtained by: 

reflecting the graph of 
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Explain how to obtain the graph of 
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Pr 5 Show whether or not the function [image: image78.png]fl@)=z+1



has an inverse. 
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